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6. Given: AD = CB, 2D and 2B are right angles. A< T8
Prove: AADC = ACBA 1 -
Dt ¢
Statement Justification
0.AD=CB, Dand LBare [0.Given
right angles

1./MADC and ¢! CBA are right | 1. Definition of right triangles
triangles

2. AC X 2 AC 2. Reflexive Property Congruency

3. ﬂADC T ACBA 3. HL Triangle Congruency




[image: image2.png]13. Given: RS =TU,
TU 1 UV,
midpoint of RV.

Prove: ARST = ATUV

\"
U

Statement
0.RS = TU,RS | ST,TU
. 13 1
Tis the midpoint of RV
1. <RST and <TUV are right
angles

2. ARST and A TUV are right
triangles

3.RTZ VT

4. RSTT QTUV

Justification
0. Given

1. Def of perpendicular

2. Definition of right triangles

3. Definition of midpoint

4. HL triangle congruency




[image: image3.png]14.Given: 7M = WP.TP | MW,

Ny T

\\”—_1_<> w

Statement

QM = WP, JP/MW, P |
PM

Justification

0. Given

1. Alternate interior angles thm

2. Definition of perpendicular

3. All right angles are congruent.
4. definition of right triangles.

5. Reflexive Property Congruency

1. <JPM=<WMP

2. <JPMis aright angle

3.<WMP is a right angle

4. Triangle JPM and triangle WMP
are right triangles.

5. PM = PM

6. AIMP = AWPM 6. HL triangle congruency
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Write a-plan-amd-then-a proof.

8. Given: RS = UT,RT = US S T T
Prove: ARST TS
s T

s 6 + )\-
R \ M / U
WV

Statement
0.RS ‘= UT,RTZUS

Justification

0. Given
1. S? x= ﬁ- 1. Reflexive Property Congruency

2 A RST A UTS 2. SSS triangle congruency




[image: image5.png]9. Given: OD = UA,ZQDA=/UAD
Prove: AQDA = AUAD Q

Statement
0.QD = UA, ZQDAS LUAD | 0. Given

Justification

—_— . =

1.DA= DA 1. Reflexive Property Congruency

24 QDA T auaD 2. SAS triangle congruency
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5. 4T = Aqey

0. Given

1. Reflexive Property Congruency
2. ASA triangle congruency
3.CPCTC

4. Reflexive Property Congruency

5. SAS triangle congruency




[image: image7.png]11. Given: AD = ED, -
Dis the midpoint of BF
Prove: £ADC = AEDG

G
/\

b D ) D A
, c
t
Statement Justification
0.AD = ED, Dis the 0. Given
midpoint
of BF
[— 1. Definition of midpoint
1.FD = BD

~ 2. Vertical angles are congruent
2./FDE = LBDA
3. SAS triangle congruency
~

3.4EDF £ ADB
4.CPCTC
4.LEZLA )
5. Vertical angles are congruent

o
5. LGDE = £CDA 6. ASA triangle congruency

6. LADC = A EDG




[image: image8.png]17. Given: AC = EC,CB = CD
Prove: /A = /LE

O
o 8
E
Statement Justification
0.AC SEC, CBBZCD 0. Given
1.LACDY L ECB 1. Reflexive Property Congruency
2. AACD=A ECB 2. SAS triangle congruency

3.LASL E 3. CPCTC




